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INSTRUCTIONS

1. Write your name and name of school inthe space provided on the front page of this Question Paper.
9 U U H Q) T R UR 3791 9, faeiers &1 A ford |
2. No additional sheets will be provided for rough work.
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3. Blank papers, clipboards, log tables, calculators, cellular phones and electronic gadgets are not allowed.
GTell BT, el drs, ART Tad, deldzeley, AldTsd BIF 9 37 fhdl 1 TR & SUBROT 7+ IR 1 I |
4. The answer sheetis provided separately.
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5. Do not tamper with/mutilate the Question Paper.
U9 Bl AT BT |
6. Do not break the seals of the question paper booklet before beinginstructed to do so by the invigilator.
RIgetes Bl AT & 49T U9 U =11 @il
7. The question paper contains total 50 questions.
9 UIH H gt 50 U eI A F |
8. For each question you will be awarded 3 marks if you have given correct answer and zero marks if any
guestionis not attempted. For each wrong answer 1 mark will be deducted.
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1. Maximum amount of substance in middle lamella is— 1. weguefaredn | rfdramad FaTardrs —
(1) Suberin (2) Pectin (3) Cutin (4)Lignin (D) gaRka ) e 3)efes (4) farf

2. Inhibitors that prevent ATP production in cells would MOST 2. A<fere S BRI ATP @ Searae @ srave B & e
likely affect the— : .

(1)Ribosomes (2) Mitochondria w3 fops H-Q‘cl'ﬂlﬁ‘ﬁcmrid? gAT AT HRI—
(3) Golgi apparatus (1)=Tgarda™E  (2) FABIOThT
(4) Rough endoplasmic reticulum B) Tt wra (4) HfvTesT 31 uaiTSITferant
3. If a piece of potato tuber tissue is placed in strong salt solution, 3. 3fx s1re] T e CareT AT THE & el 3 T2 AT 9T BT —
what will happen— > . o
(1) It will shrink due to water loss(2) It will become turgid (D) st e s frgem (2)as _ B
(3) It will float (3) e (4o TE Erm
(4) Noting will happen 4. IETHESTA—HY T RIGT< B8l BTH HIATE —
4. ;l'lrfgsp_iration-pulll)theory operatg )11}1) - b ) (1) fsha Sret sraemyor (2) rfSma STet sraeiryor
ctive water absorption assive water absorption Seqe :
(3) Root pressure (4) Imbibition (3)7erare = (4) @re=s: <irerer
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5. InC.-pathway, the first reactionis—
(1)Addition of CO,withPGA  (2) Addition of CO,with PEPA
(3) Addition of CO, with RUDP (4) Addition of CO, with RMP
6. Theinitial enzyme of Calvin cycle is—
(1) Ribulose diphosphate carboxylase
(2) Triose phosphate dehydrogenase
(3) Phosphopentokinase

(4) Cytochrome oxidase
7. Inacell glucoseis fully oxidised in—
(1) Cytoplasm (2) Mitochondira
(3) Chloroplast (4) Ribosome
8. Which plants has seed with longest viability —
(1) Lotus (2) Papaya (3)Pea (4) Wheat

9. Garner and Allard are concerned with —

(1) Photo-phosphorylation (2) Photoperiodism

(3) Photoropism (4)Photolysis of water
10. Grass stem elongates by the activity of —

(1) Primary meristem (2) Secondary meristem

(3) Intercalary meristem (4) Apical meristem
11. Milk spoilage is due to—

(1)Aspergillus (2) Pseudomonas

(3) Lactobacillus (4) Staphylococcus

12. Autonomic genome system is present in —
(1) Ribosomes and chloroplasts
(2) Mitochondria and ribosomes
(3) Mitochondria and chloroplasts
(4) Golgibody and mitochondria
13. Isogamous condition with non-flagellated gametes in found in—

(1) Chlamydomonas (2) Spirogyra
(3) Volvox (4) Fucus
14.Besides paddy fields, cyanobacteria are also found inside
vegetative part of—
(1) Pinus (2) Cycas (3) Equisetum (4) Psilotum
15. Interfascicular cambium develops from the cells of :
(1) Medullary rays (2) Xylem parenchyma
(3) Endodermis (4) Pericycle
16. Lenticels are involved in :
(1) Transpiration (2) Gaseous exchange
(3) Food transport (4) Photosynthesis
17. Age ofatree can be estimated by —
(1) Its height and girth
(2) Biomass

(3) Number of annual rings
(4) Diameter ofits heartwood
18.Pigment-containing membranous extensions in some

cyanobacteria are—
(1) Heterocysts (2) Basal bodies
(3) Pneumatophores (4) Chromatophores
19. The most abundant intracellular cation is—
(1)Na (2)Ca 3)H 4K
20. During seed germination its stored food is mobilized by—
(1) Ethylene (2) Cytokinin
(3)ABA (4) Gibberellin
21.The rist stable product of fixation of atmospheric nitrogen in
leguminous plants is—
(1)NO, (2) Ammonia
(3NO; (4)Glutamate
22. Function of fruit is/are—
(1) Protection of seeds
(2) Help of seed disposal
(3)Both (1) & (2)

(4) Presence of fruit makes the species evolved
23. When the ovules are borne on central axis and septa are absent, the
placentation is—
(1) Free central
(3) Parietal
24. Apical meristems are
(1) Differentiated
(2) Undifferentiated
(3) Dedifferentiated
(4) More than one is correct

(2) Marginal
(4) Central
cells—

5. C-rarai=res 91 § AT el 8 —
(1) CO. AN 8 PGA®
(3) CO. 5= & RUDP =

6. BfTT TR BTULHTISHE —

1) Ribulose diphosphate carboxylase

2) Triose phosphate dehydrogenase

3) Phosphopentokinase

4) Cytochrome oxidase )

7. BIfRhT H T b TSl bl JTRITHROT BT EATS —

(1) w1fErepra=a (2) gaw ot (3)eRdead  (4)rsardr

8. T T+ STia= eTadT arel s foha# faea & —

(2) CO TS & PEPARY
(4) CO, s 8 RMP=

(1) beret (2) afren (3) Frex (@)
9. RN TS foha arfaa & —

(1) UepTf31ep BTEHTHRT (2) Erftgasrferan

(3) ymTRTgad (4) IRTFRT®H ST TTE e
10. oI 1 B AHTS, AfhIqT B BROTISAT & —

(1) werfie favsaras & (2) fe<ihass favsaas &

(3) srrd=h favsaTas & (4) <fri=er fovsaras &

1. SIEREEATS —
(1) TR & BT (2) =THET & BRI
(3) rFTaRIeT & BRI (4) R BHTSATHIHH B BT
12. wad= STHH G SuRerd ardr g —
(HrsarmFansRadad d (2) GABOTHRT TATIASATATH H
(3) @Ot Ao sRderad #H (4) TiTest T a2 YAB TR H
13, FHYTHS STARAT B AT ITHTRMH 7H P fhaH U S & 72

glg Chlamydomonas 2§S irogyra
3) Volvox 4) Fucus )
14. < eRa Srarer (Fra=rafaeRan) a= & Wdal & srarar feaa
BT AT B TR WU ST 8 2
s, (1) Pinus o 12) Cyc_ig[ 3%3%Eguisetuné ag%)?Psilotum
(1) Fros fpxor & (2) ST Aga® &
(3) =T @uR=1

16. SR FATHIAT S —

(D) arsrcasts (2) rafafama (3)arer AfTa=(4) Tmirageryor
17. 5 ge1 ) 31y 1 Tt fraas TR fan st wedr s —

(D saaTHarE iReR

(2)Shawsfaw

(3) arfep Tl B A=A

(4) D ST BT S AT
18. wrsrafaeRar # o RreeiaR yaR aret yvies = 8 ?

(HeiRe Q)emaR®w™m (B)Taw—qa  (4) aoids oTad
19. | UgR STIRTHIREH TAIA HITATS ?
20. %)GrNiicgﬂw B glgsasﬁqvl Hu(%)dHHmw I{?bﬁgﬂ.)g?[
TAIT ST R ?
(1) wferet= (2) ATSErhISIA
(3)ABA (4) SR
21. wellaR uTedl § IrIadiT ATSSroiT & ReNIBRUT BT UgdT Rer
SUE HIFTATS ?
(1)No, Q)smf=r (3)NO; (ORI
22. A DB/ D BT B—
(1) ST 1 gRet (2) ST & gasToiE W eI
3)()a Q)<=

(4) BT BT SURARY gTTiy B1 fABRIa AT ©
23, ST9 SISTvs B 318 IR S~ 81 8, JIT Uec I_d &1 8, dl

ASTTUSITH HEATTT 8—

(Hhgaas=ra (2) dHEr=i (3) fo=m (4) 3tetr=
24, <= favsaIad. PIRTHTY E—

(Hfaafea  Qefwfea ()R-

(4) v 3 31fes fAwea agr 8
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25.The parenchymatous cells which lie between the xylem and

phloem are—
(1) Endodermis (2) Conjuctive tissues
(3) Medullary rays (4) Pithrays
26. A central gastrovascular cavity with a single opening is a feature
of-
(1) Porifera (2) Coelenterata
(3) Aschelminthes (4) Annelida

27. Inthe following figure. The 1abelled structure ‘Y’ represents—
(1) Mesoglea i

(2) Mesoderm
(3) Ectoderm
(4) Endoderm
28. Notochord/or notochord like structure is confined to proboscis in—
(1) Urochordata (2) Hemichordata
(3) Cephalochordata (4) Chordata

29. Animals belonging to phylum Chordata are fundamentally
characterised by the presence of structure noted as A, B, C and
D.Identify A, B,

(1) A-Notochord, B-Nerve cord, C-Gill slits, D-Post-anal part
(2) A-Nerve cord, B-Notochord, C-Gill slits, D-Post-anal part
(3) A-Nerve cord, B-Notochord, C-Post-anal part, D-Post-Gill slits
(4) A-Nerve cord, B-Gill slits, C-Notochord, D-Post-anal part
30. Which of the following epithelial tissue present in the inner lining
of trachea, large bronchi and helps in removal of mucus ?
(1) Columnar epithelium (2) Cuboidal epithelium
(3) Pseudo stratified epithelium (4) Squamous epithelium
31. Fibrous tissue which connects bones is
(1) Connective tissue (2) Tendon
(3)Adipose tissue (4) Ligament
32.Identify A, B,Cin the glven followrng labelled diagram—

e

5 .?'
!‘
v

(1) Phallic duct, Pseudopems Caudal style, Anal cercus
(2) Ejaculatory duct Pseudopenis, Anal cercus, Caudal style
(3) Ejaculatory duct, Pseudopenis, Caudal style,Anal cercus
(4) Phallic duct, Pseudopenis, Anal cercus, Caudal style
33. Inwhich of the following order, the process of digestion proceeds?
(1) Ingestion — Solution —Absorption — Accumulation —
Egestion
(2) Digestion — Ingestion = Solution— Absorption— Egestion
(3) Ingestion = Digestion = Absorption — Solution = Egestion
(4) Ingestion — Digestion — Absorption — Assimilation —
Egestion
34. The diagram given below is of a duct system of liver, gall bladder
and pancreas. Write the names of ducts from A to D.

(1) A-Cystic duct, B-Common bile duct, C-Pancreatic duct, D-
hepato-pancreatic dut

(2) A-Common bile duct, B-Cystic duct, C-pancreatic duct, D-
Hepato-pancreatic duct

(3) A-Cystic duct, B-Bile duct, C-Hepato-Pancreatic duct, D-
Pancreatic duct

(4) A-Cystic duct, B-Pancreatic duct, C-Common bile duct, D-
Hepato-pancreatic duct

25. SIS oTH I FalTUH P He Rerd AR—<hTsHI BIf3Th 1T 8—

() T<rsfis (2) Hoifdea Hds
(3) TS ¥ (4) FoT =fEagi
26. Single opening o &H—=1T STex arfa«i 8T (gastrovascular
cavity) foraenT SteTor 28—
1) Porifera 2) Coelenterata
3) Aschelminthes 4) Annelida
27. fors % Amifasa G ‘Y el 8—
1) Mesoglea
2) Mesoderm
3) Ectoderm

4) Endoderm hs 57
28. Notochord/a1erT notochord ST A== fre=y 3§ F By Sig

W%wﬁaqﬁ%ﬁé’r%—

1) Urochordata 2; Hemichordata
Cephalochordata 4) Chordata
29. Phlrsc gEeRi—

EHA,B,C,D®1

1) A-Notochord, B-Nerve cord, C-Gill slits, D-Post-anal part
% A-Nerve cord B-Notochord C-Gill sllts D-Post-anal part

A-I]Ierve cord, B-Notochord, C-Post-anal part, D-Post-Gill
slits

(4) A-Nerve cord, B-Gill slits, C-Notochord, D-Post-anal part
30. Trachea o1 large bronchi % U ST aTell IUBST Hadd ST

ITToHT & FoISh T § TaTIdT hRal 8 —

g g Columnar epithelium E Cuboidal epithelium
3) Pseudo stratified epithelium (4 Squamous epithelium
31. O=gH S ol TR BT ST

E ; Connective tissue E‘é Tendon

Adipose tissue Ligament
32. A= TrérﬂTﬂnﬁo—cr%ﬂﬁrA B g

1) Phallic duct, Pseudopenls Caudal style, Anal cercus
2 Elaculatory duct, Pseudopenls Anal cercus, Caudal style
flaculatory duct, Pseudopenis, Caudal st le Anal cercus
Phallic duct, Pseudopenls Anal cercus, Caudal style
33. GFr ) e A BT S B —

) Ingestlon — Solution — Absorption —Accumulation —
estion

2) Digestlon — Ingestion = Solution— Absorption = Egestion

(3) Ingestion = Digestion — Absorption— Solution — Egestion

4) In%estlon — Digestion — Absorption = Assimilation —

gestion
34. <= faam = Tepd, TOITL™ oI SRR Bl AfeTdhT a3

Teare | A\ D Afara1eii w1 ug=nfag —

(1) A-Cystic duct, B-Common bile duct, C-Pancreatic duct, D-
hepato- pancreatlc dut

(2) A- Common bile duct, B-Cystic duct, C-pancreatic duct, D-
Hepato-pancreatic duct

(3) A-Cystic duct, B-Bile duct, C-Hepato-Pancreatic duct, D-
Pancreatic duct

(4) A-Cystic duct, B-Pancreatic duct, C-Common bile duct, D-
Hepato-pancreatlc duct
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35. When a person breathes normally, then the amount of air which
remains in the lung after normal expiration is
(1) Expiratory reserve volume (2) Expiratory capacity
(3) Functional residual capacity (FRC)
(4) Inspiratory capacity
36. Which of the following conditions will be responsible to shift the
Oxygen-Hemoglobin dissociation curve to the left?
(1)Increasein Hb. F (2) Increase in temperature
(3) Increase in pCO, (4) Decrease inpH
37. The correct router through which pulse-making impulse travels in
the heartis—
(1) SAnode — Purkinje fibres = bundle of His = AV node — heart
muscles
(2) SAnode = AV node — bundle of His = Purkinje fibres — heart
muscles
(3) AV node — Bundle of His = SA node — Purkinje fibres —
heart muscles
(4) AV node— SAnode — Purkinje fibres #Bundle of His — heart
muscles
38. Blood does not clot inside blood vessels due to the presence of—
(1) Heparin (2) Fibrinogen (3)VitaminK (4) Thrombin
39. Which of the following is an incorrect match ?
(1) Bowman'’s capsule — Glomerular filtration
(2) DCT—Absorption of glucose
(3) Henle’s loop— Concentration of urine
(4) PCT—Absorption of Na and K- ions
40. Which of'the following is the most toxic excretory product ?

(1) CO, (2) Ammonia
(3) Urea (4) Amino acids
41. Holoenzyme is made up of—
(1)Apoenzyme alone (2) Apoenzyme + cofactor
(3) Cofactor (4) Co-enzyme

42.Forareflex action involvement of the following is must—
(1) Afferent neuron (2) Efferent neuron
(3) Effector organ (4) All of the above
43. When a neuron is in the resting state i.e., not conducting any
impulse, the axonal membrane is—
(1) Equally permeable to both Na- and K ions
(2) Impermeable to both Na and K- ions
(3)Comparatively more permeable to Na ions and nearly
impermeable to K ions
(4)Comparatively more permeable to K
impermeable to Na ions
44. Hinge joint occurs between—
(1) Humerus and radio-ulna
(2) Femur and pelvic girdle
(3) Humerus and pectoral girdle
(4) Skull and atlas
45. Joint between atlas and axis is—
(1) Pivotjoint
(3) Angularjoint
46. Select the incorrect match —
(1) Oxytocin —Birthhormone (2) Pitressin—ADH
(3) Pitocin — Vasopressin (4) Prolactin— Mammotrophic
47. Glucocorticoids are involved in carbohydrate, lipid and protein
metabolism. But are not involved in
(1) Anti inflammatory function (2) Immunosuppressive function
(3) Increase the WBC count (4) Increase the RBC count
48. If the light source infront of an eye becomes bright suddenly—
(1) focus of lens will change ~ (2)viterous humour becomes fluid
(3) retinal blood supply will cut (4) pupil will contract
49. Sensation of hearing is produced as aresult of the—
(1) presence of helicotrema
(2) vibrations set in the external auditory meatus
(3)vibrations of the ear ossicles
(4) nerve impulses generated by the hair cells of the organ of corti
50. The most abundant lipid in cell membrane is —
(1) Phospholipid (2) Steroid
(3) Cholesterol (4)Waxes

ions and nearly

(2) Saddle joint
(4) Hinge joint

35. STd Ueb Aferd ATHTT Za0+ bl & dd ATHI TRTaTSRe= /
ITE—TATA B 1€ BB H Y ATY BT AT HeAi & —
(1) waursyel Red dfegd (2) Taaarsyes] Ui
(3) PR oS YT HURTEI(4) 3=AUTSR S HURTEN
36. =1 % ¥ 1= e1a=er Oxygen-Hemoglobin dissociation curve

BT AT AR fAzenfad w8 —
(1) Hb-F = 31feres |11 (2) Temperature @57 3TfErHT
(3) pCO. @1 s7feramar (4) pH# &+t

37. BT H AT HaROT BT AT AR & —
(1) SAnode —Purkinje fibres —bundle of His #AV node —heart muscles
(2) SAnode 2AV node—bundle of His —Purkinje fibres 2heart muscles
(3) AVnode VBundle of His =S Anode —Purkinje fibres —~heartmuscles
4 ) AV node —SAnode —Purkinje fibres—Bundle of His —heart muscles
38 arfe-arH faa P BIRVT HIER Pl AFh] ] d-IcT—
(1) Heparin (2) Fibrinogen (3) VitaminK (4) Thrombin
39. == R T g H e e ag =g —
1) Bowman’s capsule — Glomerular filtration
2) DCT — glucose T 72O
(3) Henle’s loop — 9= &1 A== 01
(4) PCT—Na T211 K- ions &1 3a=ITe o
40. =19 A P Sl uaTed 3 fieds faven s —

(1) CO, (2)Ammonia (3) Urea (4) Amino acids
41. BrATISITSH g Bl 8-
(1) et TATGSITSH &1 (2) TUIUSITSH + BB IR BT
(3) P BT (4) PTUSIISHA BT
42. e gt fehdl & fAIT eTasgeh ye & —
1) Afferent neuron 2)Efferent neuron
533 Effector organ S)GCI’\}IZH ESE|
43, =R+ {37 Sra<er & SR 7T AT WaAXoT 7&1 81 I&T 8,
axonal membrane 1< & —

(1)Na T K- ions & foTg FH _IT=1
(2) Na @2 K- ions & forg sram=ar=
(3) gt 9 A Na- ions & foTg o1f8res ar=er= a2 K- ions &
TG ST T ORI
(4) ot U | K- ions & o1 31fdres g7 d211 Na' ions &
FIQ ST STORIT=
44, Hinge joint farehs A& UraT SITaT 8 —
(1) Humerus e radio-ulna (2) Femur et pelvic girdle
(3) Humerus 21t pectoral girdle (4)Skull cer atlas
45. Atlas T2Imaxis & AeT BT AT T —
%221%/(% J%r:_\q_r (ézgglg%e%g _(3)Angular joint(4) Hinge joint

() sitfeRm-swemia (2)fagfR=-ADH
(3) faeRr= —aEmufa= (4) vretfdea —aHgfhe
47. TBIBIETRIaea BT BT T8 8—

46.

(1) T s=FaAmde ) fopan (2) seg=raue=
B)WBCHTH=aTH gfg (4)RBCo H=ndgfyg

48. ufe sifg & AT SUfReId Ueh el =T 3T oISl 81 S dl —
(1) Lens @1 focus e STRITT

(2) Viterous humour fad 81 ST
(3) Retinal # blood supply o= 81 ST=I7ft

(4)Pupil eBfrd €1 ST

49. g1 1 11 e gTRT S~ fHa1 ST s —
(1) Helicotrema @ SuRerfay  (2) a1a1 ol v H 3~
(3) Fof el # o=

(4) Organ of corti @571 e HIRIHTT H Scu—1 a9
50. pTRTepT fS3reetl H ag3Tad H uril ST aretl a-a1 & —

1) Phospholipid 2) Steroid
3) Cholesterol 4) Waxes
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